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QUESTION 1

Which of the following are necessary for ISIS to support MPLS TE?

A. Use command "traffic-eng" to enable ISIS-TE in IS-IS view.

B. Use command "mpls-te enable" to enable MPLS TE in ISIS view.

C. Use command "opaque-capability enable" to enable opaque capability in ISIS view.
D. Configuring wide-metric support in ISIS view.

Correct Answer: AD

QUESTION 2

Which of the following statements about LAN switch is correct?

A. LAN switch is transparent for user, it does not modify the data field of the forwarded frame.
B. LAN switch can still operate normally even when loop exists.

C. LAN switch can detect loop according to the contents of the packet.

D. LAN switch can modify the data field of the forwarded frame when necessary.

Correct Answer: C

QUESTION 3

Which of the following multicast IP addresses is administratively scope address?
A. 224.0.0.0-224.0.0.255

B. 239.0.0.0-239.0.0.255

C. 224.0.1.0-238.255.255.255

D. 224.0.0.0-239.255.255.255

Correct Answer: D

QUESTION 4
Which of the following statements regarding the description of LDP is incorrect?
A. Between two LSRs that run LDP, the LDP session is established and Label/FEC mapping information is exchanged.

B. In MPLS, LDP is used to implement label distribution, label control and label retention.
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C. The two routers between which LDP session is established are called LDP Peer.
D. The UDP and TCP port number for LDP is 64.

Correct Answer: ABC

QUESTION 5

Which of the following statements about CAR are correct?

A. CAR uses token bucket mechanism to measure traffic and allocate bandwidth.

B. CAR can be used for incoming interface and outgoing interface.

C. CAR and queue scheduling cannot be used at the same time because of confliction.
D. CAR can be used to limit the rate of the specific type of traffic.

Correct Answer: C
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